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QUESTION 1

Select the most suitable statement about PostgreSQL from below. 

A. There are PostgreSQL GPL license versions and commercial license versions. 

B. You need to be pre-registered to use PostgreSQL. 

C. PostgreSQL can be used by everyone free of charge for any purpose, be it private, commercial, or academic. 

D. You can use PostgreSQL for free; however, the source code is not open to the public. 

E. PostgreSQL is shareware. 

Correct Answer: C 

 

QUESTION 2

A set of tables are defined as follows: t1 t2 How many rows are returned by executing the following SQL statement?
SELECT * FROM t1 LEFT OUTER JOIN t2 USING (id); 

A. 2 rows 

B. 3 rows 

C. 4 rows 

D. 5 rows 

E. 6 rows 

Correct Answer: C 

 

QUESTION 3

Based on the relationship of columns within a table, select the most suitable description that shows that column A is
dependent on column B. 

A. The value in column B is uniquely determined when a value in column A is selected. 

B. The value in column A is uniquely determined when a value in column B is selected. 

C. When the value in column A is changed, the corresponding value in column B also must be changed. 

D. When the value in column B is changed, the corresponding value of column A also must be changed. 

E. As long as column B exists, the amount of information will not decrease even if column A is deleted. 

Correct Answer: B 
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QUESTION 4

The table "score" is defined as follows: gid | score -----+------1 | 70 1 | 60 2 | 100 3 | 80 3 | 50 The following query was
executed. Select the correct result value. SELECT score FROM score ORDER BY gid DESC, score ASC LIMIT 1; 

A. 50 

B. 60 

C. 70 

D. 80 

E. 100 

Correct Answer: A 

 

QUESTION 5

Which normal form has the constraint that there must be no tables with duplicate column values in the same row? 

A. First normal form 

B. Second normal form 

C. Third normal form 

D. Boyce/Codd normal form 

E. Fourth normal form 

Correct Answer: A 
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